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. PART - 111 / ¥T7T - 1 ——
SOCIAL STUDIES / SOCIAL SCIENCE - [T ey s R

Direction : Ansuyr the folloureg ipraestions lry selecting the eorrect/most appropriate optons

Frder - freforfan g & I & B foT Wl AR g e A

wing Kingdoms was established by Kadamba Mavurasharman ?

Karnataka (3) Rajasthan (4)  Gujarat

31.  Which ol the follo
(1)  Madhya Pradesh (2)
ﬁ:rfﬂfmﬂﬂﬂ?‘mmmwmﬁmﬁqﬂfmm?

(1) W W& (2) FAEE (3) U= 4} Twm

32. Which of the following statements is/ are correct about planets 7
(A) They are lit by the light of the stars.
(B) They are made up of only rocks.

(C) Al planets have their moons.

Options :
(1) Al (A), (B) and (C) (2) Only (A)
(3) Only (A) and (B) (4). Only (B) and {T)

o 3 iy § Fetetaa § @ ey R w0 6 e ?
(A) ATl % wh & g w1
(B) A Faw =gri A a1 w g
(C) Tt el % 3T =ie € €
famea

(1) (A), (B) 74 (C) T

(2) FEe (A)

(3)  Fae (A) 79 (B) (4) T (B) 30 (C)

pir NN -
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34.

35.

N S

The mwst important factor that influences the i-h!itrﬂ'ﬂ:llhln ol temperature on carth is -
1) Crowded high nise buildings

Insolation or Inconung Solar Radiation
(M Seasons
(4] Axphall of roads
guil 93 W EE * fﬂmmiﬁmﬁilmt.ﬂﬂm!{_tﬁmg :
1y Mt A 5 viEA
(2) AR Hgm W A AA A fawmm
BRI
(4) e | 949 9%

Consider the following statements on non-Brahman movement and choose the valid
Optiog,

ta)  The movement came from non-Brahman castes that had acquir

(b)  The movement argued that the Aryans were the indigenous
(c) The movement came from non-Br

ed access to Educaﬁﬂn

people.
ahman castes with wealth and influence.

Options :
(1) Only (b) is valid. (2) Only (a) and (c) are valid. -
(3) Only (b) and (c) are valid. (4) Only (¢) is valid.

-z aﬁémmﬁnﬁf@amﬁmﬁﬂnﬁmmﬁummﬂﬁq:

(a) wmﬁmﬁ-mwﬁﬁﬂmﬁﬁﬁﬁmmqﬁammﬁ& ot |
(b)  =EA A o fam % s wim @ w2

(c)  =7iEer 39 - snfeddi & srn fords wrg LERCR U |

faweg
(1) #F=a# (b) 9y % (2) FaEa (a) 3 () & ¥y
(3)  %adA (b) 30T (¢) Au ¥ (@) FHad (o) du ¥

Who among the following worked with leather workers in Central India and also starte:
Movement ?

(1) U.B. Phadke (2) Jyotirao Phule (3) Ghasidas . (4) Haridas Tha
Ffeataa o @ faar o A W A0S F1 i F el Y w1 A weeand s
w7

(1) 4=t wzs (2) wifamE w9 (3) wTEHEE (4) T I

P-IT AR =
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38.

What tvpe of winds are Land and Sea breeze 7
(1 Permanent wanads (2 Cyelone

(M Loval winds (4). Seasonal winds
frm s o) e, e el g s el 82

(1) ¥ g (2) W

(3 TS A (4) theh e

While teaching in a Social Science class, a student asks you - "how can we a—
betweern longitudes on Equator * What answer will be correct for such calculation }&* distap .

(1} Dividing the double length of Equator with 90,
2)  Dividing the total length of Equator with 180,
(%) Dividing the total length of Equator with 360. -
(4)  Dividing the half length of Equator with 360,

A T g g W i e s e - e T w o
F4 w0 7w §' @ W by e T g

(1) Toem T =1 g = &1 00 A favifem e
(2) Tagea wan %t wran =1 180 2 fnfom s

(3) TomEa ran it v 1 360 A favifas wen

(4) oo T 3 st e #1360 | fawnfam s

Which of the following is the correct sequence of rock cycle ?
(1) Igneous Rock, Magma, Metamorphic Rock

(2)  Sedimentary Rock, Metamorphic Rock, Magma

(3} Igneous Rock, Metamorphic Rock, Sedimentary Rock -
(4) Magma, Metamorphic Rock, Sedimentary Rock
Frefetas 9 4 de = w1 aft Fm s &7

(1) = e, o, wEmte e

(2) FE@E 9\, FEaiE e, f

(3) s Fa, FwEEtE de, weEE fa

(4) Hm, FEEtE e, s fe

P11 AAWATEIVTw 37
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Y Makch ghe e < PR RS
] :
samped glazed | :

A
4} Punch marked c (M i
®) N bt ware {0 ol e
(€]  Amphor (i) Extremely fine " d
‘-'_f-’ (a) - fiv), (b) - {i). (c} - (L), () - (i) *
=) {a) - fiv), () - (i) (c) - (i), (d) - (44d)
(3 () - giv), ) - (i, {c) - (i), () - (1)
(4)  (a) - (iv), (b) - (@), {<) - (). (d) - (1) .

7 Wi iy e Svg fawed W 994 W0

H B
(a) mem fas () e e W
b) 3w wrd g W (i) et S B e =
fc) o () gt ¥ g ) e SR e W
(d) wtfeq i iv) & wem @ faedl W e S

(1) {a) - (iv). (b) - (i), {c) - (k). {d} - (i)
(&) (a) - (iv). (b) - (i), (c) = (i), (d} - (iid)
{a) - (1v), (b) - (i), {c) - (i) () - (1)

(3)
(3) () - (iv), (b) - (i), (c) - (idi). (d) - (3}

0.  Read the statements (A) and (R) carefully and choose the correct aption.
(A) : Using resources carefully and giving them time to get renewed Is called resource conservation,
(R) : Balancing the need to use resources and also conserve them for the future is called sustainabls
development.
Options ;
(1) (A) is false but (R) 15 true.
(2) Both the staterments (A) and (R) are true and (R} explains (A).
(3)  Both the statements {A) and (R) are true but (R} does not explain (A).
(4) (A) is true but (R) is false.
A (A) 741 (R) F1 vAH A WE aw Frafafaa § 3w e =91
(A) - HaEraT &1 wasarE® avam &7 o 3 Feiter F foau gy &, S e weem §
(R) - FHPE W1 39 %73 #1 avymws S vfawy & fou w58 dwm § dgem a9 @, Jememn
s wwamm &
TF
1} (A) A @ fF= (R) Tl #
) =M F%F (A) TF (R) TE & 7 (R), (A) ) =mmem wen b
2 F9 (A) W (R) HE E T (R), (A) # e 6 wen g

(A) Tel & fe=j (R) 7o &)

AR T
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which one of the following is incorrect f

1.
(1} The dissatisfaction with British rule intensified in 18505 and 1880
(2] The Arms Act was passed in 1878, disallowing Indians from pPosSeSSINg arms. o
() The Vernacular Press Act was passed in 1880, to support the Government
(4) In 1883, there was a furore over the attempt by the Government to introduce the Tlbert Bill
foreiferfra | B w7 w i el &7
(1 1870 3t 1880 & Zwv! # fafew wree ¥ wfa s it =na e gan
(2) 1878 s vz Wi e s Fore = Ml g s O e e w A 9
I
(3) w1 guds w0 % e 1880 § wAiren m vE nifE faen o
() 1883 F wewn 3 yeu e A F W wAE e R w e g
42. Consider the following statements about grasslands and choose the correct option
(A) Climate plays an important role in the formation of grasslands.
(B) Annual rainfall is moderate in Prairies while velds could face drought in winter months,
(C) The vegetation cover is sparse in Velds.
(D) Velds lie in the Northern Hemisphere while Prairies in the Southern Hemisphere.
Options :
(1) Al (A), (B), (C) and (D) are correct. *
{(2) Only (A), (B) and (C) are correct.
(3) Only (B), (C) and (D) are correct.
(4) Only (A), (C) and (D) are correct.
w ¥ Terl & A d fog e el w fEen #ifa au we awes @ s
(A) = % Tl & Fiv F serEr v weeg fie fad )
(B) ey # fes e v 1 @Rl & s dem F W F wn A gmmm wea b
(C) aF=a ¥ Fvefa smam fave £
(D) &g 390 v 3 e T # wate i fuei derd 6
fawey
(1) (A), (B) (C) A (D) 5t 7 %
(@) ¥ (A), (B) w () i £
(3) %4 (B), (C) w1 (D) = ¥
(4)  F(A), (C) 7 (D) ¥
PIL NI 39
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4.

Acconding to the Uttaramerur inscription, who could become a membur of a Saldha
(A} The owners of land trom which land revenue s collected.

(B)  They should be between 25 and 70 years of age.

() Thev should have their own houses.

(D) They should have knowledge of the Vedas,

Options :

(1) Only (A), {C) and (D) (2} Only (A)

(3) Only (A) and (B) (4)  Only (A) and (D)

FeTiET S & S 4 9 AEE W A A

(A) T e R S e "

(B) T W 25 370 & I A R

(C) 3% w= aF W E e

(D) T & I g e

famma -

(1) FH (A), (C) (D) ) FEA (A)

(3) A (A) 3 (B) (4) A (A) 3t (D)

o

~ pelers to a situation where a person does not have resources and opportunities that are
available to other persons |

(1} Dispossession {2} Hierarchy (3} Diversification (4]  Inequality

e ek 2w B R R danE st s T 0 W e st 6
e )

(1) = (2) (3) fafadwm (4) SmER

P11 AR 40
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s of the following are correctly matched ?

el
" ,\grimhural Practices Description
A gubsistence Farming - Practiced to meet the needs of farmpy,
8) Intensive Subsistence Agriculture - Prevalent in the thickly populated ire, e
() Shifting Cultivation - People and animals move from place 1, v .-
Choose the correct option. o
0 AU(A) (B) and (©) (2) (A)and (B)
ooy 8 98 g ) e 7
ELRrEAL] Ui
(a) frafe i - T A S W A o g,
@ T A - IR e = 6 O wefem e 8y
) Em - = 3T OF A g w s
it T w1 A Ffan|
@) (A) (B 3ht(© (2) (A) @ (B)
3) (B FW(C) (4) (A) T4 (C)

. Read the statements (A) and (R) and choose the appropriate option.
(A): Raja Rammohan Roy founded a reform association known as the Brahmo Sabha in Calcutta

(R) : He felt that changes were necessary in society and unjust practices needed 1o be done away
with. A

Options :

(1) Both (A) and (R) are false. .

(2)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(3)  Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4] (A) is true but (R) is false.

fon 0 AT (A) 3 (R) 9 B IR faEes 9

(A) : T A T T Felwen § 7w A F T D O o) de a1 )
(R) : @ WA 4 fir s o wfvadd @ s s de- i | gewmn o el
fameu |

(1) (A) 3 (R) 2T 7em ¥

() (A) 3T (R) 2 =t ¥ 30 (A) T (R) WE W FE G

() (A) 3 (R) 21 @ & A (A) 31 (R) 761 =90@n 79 w0

4] (A) =@ & A (R) oW R

el (T 4 D

B



47. Man h the following and choose the appropriate option

A B
(4} Grihapatis (ij Landless Labourers
(b))  Shrenis (i) Independent farmers
€) Adimai (iii) Coastal Settlement
(d)  Arikamedu (iv) Craft persons

(1) (@) - (i), () - (iv), (c) - ), (d) - (i) «
2 (@) - (iv). (b) - (i), (©) - (i), (d) - (ii)

(3) (@)~ (@), () - (i), () - (iv), (d) - (iii)

(4)  (a) - (idi), (b) - (), (e} - (ad), (d) - (4

F=fefam = faem wifom am Fqge Fawe o1 ¢

A B
(a) et (i)  sifadr "
(b) it (i) T U
(c) sife=d (iii) #Erm Fram
(d) =fwrag (iv) faremam

(1) (a) - (i), () - (iv). (€) - (i), () - (i)
(2) (@) - (iv), (b) - (i), (<) - (iid), (d) - (ii)
(3) (@) - (). () - (). (c) - (iv), {d) - (1ii)
(4)  (a) - (ii). (b) - (iv). (<) - (ii), (d) - ()

48. World Environment Day is celebrated every yvear on which one of the following dayvs ?

(1) 5% August (2) 5t May (3) 5™ June * (4) 5% July
Fr=forfam o 9 fae fag w=ts =d i faas gam s & 7
(1) 5 #m4 (2) 5% (3 594 (4) 5 end

49.  Which of the following is true about common property resources ?
{A) These are owned by government.
(B) These are owned by private companies.
(C) These are owned by communities.

Options :
(1) Only (A) and (C), (2) Only (A) and (B)
(3) Only (B) (4) Only (B) and (C)

A ATAEANT s A T da Fn aa 20
(A) B9 W HiHE & =g g T

(B) T 9 f=1 gl =1 =i 2 £
(C) ¥ 9 "y =1 w@nfas 8 )

fawea .

(1) Fa4 (A) 9 (C) (2) FT4(A) = (B)

(3) Fa4 (B) (4) F=4 (B) 9 (O)
P-11 ERNITHEREInN 42
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Can e best used for
¥

W wjarking Phh‘l‘ﬁ where people have lived at different points n history
Arranging sequence of events in history
Elaborating on the most important events in history

| Studying lives of people living in different times in a logical sequence

;qﬁiiﬁl'ﬂﬂmhﬁﬁﬂfﬂ fom @ W &7

0 ofrere § 5131 W T A s 1l & e w0 6

o o 1 WA ) G #7 7

o ofre 1w D W ) freg e

T T R S s ) s A v g

pich of the fullc.wmg statemenls are true about the development of cotton industries in the |4,
il lﬂ’h and early 19% century colonised India ?

) :;1:‘: t;mchle industry had to compete with British textiles in the European and American

) British market was now available for Indian textiles.
0 Exporting textile goods to England became increasingly difficult.
id) Bengal weavers were worst hit as English and European companies stopped buying Indian

textile.
(Options
(1) (c)and (d)only (2) “fa). (c) and (d) only -
(3) (b), {c) and (d) only (4)  (a) and (b) only

sl WAl & 3 o 2 I v & wo i uwda sutEn § st g s i F
1 frafiafiam o B AW A Fu 79 § 1 :

(o) TETA FHE FEM F YOG 3 s A F fafen wwg el & v w6 @
by WA HuE ¥ e o fafew avm 3w w)
() mﬁlﬁqﬁaﬂﬁﬁﬁmmmmﬁaﬁ‘mnm

d) AT F A ) R s e e witE s o givd dute 3 e s et
T2 = fam i '

fﬁh?ﬂ:

(1) %R (c) 3 (d) 2) & (a), (c) 3 (d)
B F= (), () 3 (g) (4) F9 () #(b)
T

o LT TT 43
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52.

53.

ose the correct ophion,

Consider the following statements (A) and (R) and cho

(A) * The Prairies are also known as the ‘Granaries of the world’.

(R} : Scientific methods of cultivation and use of tractors, harvesters and combines has Mgy,
Scuth Africa a surplus food producer.

Options :

(1)  Both (A) and (R) are false

(2}  Both (A) and (R) are true and (R) is the correct explanation of (A)

(3} Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3)  (A) is true but (R) is false .

Fre=fafima sl (A) #en (R) w2 Taam Fifan ao w6 fassy @ s Sifan

(A) - Wi = ‘g = s/ ver' & &9 F ot 5 = §

(R) : St & Hrfoes v i Fwee 3 Frard Wi ¥ I T 2farr A B AT Y Ty 5
w1 fam #)

faweg :

(1) & (A) 791 (R) 5@ £

(2) &Hf (A) 790 (R) et & a9 (R), (A) ¥ 76 =mEn

(3) =FE (A) 7= (R) B E 5 (R), (A) ) w6 =nem 56 &)

(4)  (A) =@ & famq (R) 7o B

Diversity came with something new and different due 1o e

(1) Homogeneous population (2)  Intermixing of cultures

(3) Genetic composition (4)  Sumilarities and identical traits

fafawm ¥2 T st sem Sy o &

(1) =A™ F96em F s (2) wEpfodl F wrew fasw & sy

(3) sgETTw T % I (4)  HEEE #R wwE mwe s

P-11 WHRINIRRIa 44
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_ervation of seals in ian Constitution

]I i { . »
egislation and in Government jobs was grﬂﬂlcd by the Ind
i

Compensate for low . : ity examinath ool
A) c ?1- grades and marks scored in School and University examinations

of which people were not able o compet

e,
mpensate for y i : ivatt

(B) Comp years of historical suppression and educational deprivation.

© Appease people for political sy pport and rally as vote banks.

fons :
B
M ;‘T {{E:)’;‘“d © (2) Only (A)
(3) Y (4) Both (A) and (C)

e W BT feenfasht 5 e wen sty i # ayem femn T

(A Eﬂi?ﬁmﬁmﬁﬁmﬁﬁmﬁaﬁﬁm = & i e

) T A o G e st ¥ st )
€ W TF F T H T wue qon ek & fory Sl ) e F Q)

e :
1) (B) 3R (C) 3T (2) FEE (A)
() F (B) @) (A) 3O

4 Read the statements (A) and (R) considering the art forms in colonial India.
Assertion (A) : Colonial rule introduced several new art forms, styles and techniques.
Reason (R) :  These were creatively adapted by Indian artists for local patrons and markets.
Choose the correct option.
(1) Both (A) and (R) are false.
(2) Both (A) and (R) are true and (R) is the correct explanation of (A). -
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A) is true but (R) is false.
et v § fafi= wen =9 F ged § FvE (A) T (R) R 9E
HYFRTT (A) shofafes Trem 8 w3 o ¥ T wen w41, fferdl o a1 g g
FT (R) : =% qRAA FEFR A A TEE R 2R e F e 8 s v D
Wi faeq 94 |
) (A) 3 (R) 2 TIEE E)
D) (A) 3 (R) 2 @ E ST (A) B (R) TE S FI@ L
0)  (A) 3R (R) 2 @ & @A (A) F (R) TE A T F@ 2

4 (A) = & AfFA (R) T E

U 45
.
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56.

57.

& . ian s ; llowing, :
Neolithi sites are different than Palacolithic sites because of the fo 5

(1) Mortars and pestles were used tor grinding grains.

(1} Pots were used for cooking food.

(1)  Cloth was woven using different kinds of material.

() Use of stone tools began.

Choose the correct option.

(1) (i), (ii) and (iv) only (2) (i) and (ii) only
(3) (i), (ii) and (iii) only * (4) (i) and (iv) only %
Frerferfian & & et ol @ e e g e 8 e
() i@t i qEe W wEn s = g 3 e s A

(ii) == = wEe ' Fe F e e s A

(iii) Tafu= wor =7 <= § F92 99 9 90

(iv) Yo % SR 1 wEm SR @ T

wE o 1 997 Fifeu)
(1) ==& (i), (i) 3 (iv) (2) F=a (i) 3 ()
(3)  FA (i), (i) 2R (i) 4) Fad (i) 3R (iv)

Read the given Assertion (A) and Reason (R) statements and choose the appropriate option.
Assertion (A) : By the late 19" century, the craft of iron smelting declined and in most villag,
furnaces fell into disuse.
Reason (R) : The iron smelters had to pay a very high tax to the Forest Department that redy,
their income.
Choose the correct option.
(1) Both (A) and (R) are false.
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A) is true but (R) is false.
feu mu srfueReaT (A) T @T (R) F1 92 3R Swge fawen gfT .
AfumaT (A) ﬁnﬁﬁ@ﬂ:ﬁawﬂ%%mﬁmmmﬁw 3 sAfuni wita)
AT & |
10T (R) : e FETe: 1 Set w1 U 399 9 1 AT o g o fred 3 4
1 gl |
wE fawe =94 |
(1) (A) 21 (R) =141 7Tera |
() (A) 5T (R) =1 #E1 F 3 (A) F1 (R) W wEn T 3

3) (A) ﬂﬁ(ﬂlﬁﬂf‘?ﬁﬁﬂmmﬁ{mnﬁmqﬁmh
(4) (A) 5@ 2 &fF3 (R) 7o )
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59.

60.

Who among the following are clected members of the Local Governments ?

(A} Ward member (B Panchayat President

(C)  Secretary (D) Ward Counaillor

Options :

(1) (A), (B) and (D) only (2) (A)and {B) only

(3} (A)and (D) only . (4) (A), (B) and (C) only

e 3 8 i T T T A W O ¥

(A) = () FA

) = (D) @ e

fHH-TFl:

(1) @ (A), (B) 3 (D) (2) T (A) #7 (B)
(3) = (A) 31 (D) (4) Fad (A), (B) #(Q)

On which of the following dates Gandhiji asked the Indian people to observe a day of non-viclent
opposition to the ‘Rowlatt Act’?

(1) 6 December 1919 (2) 6 April 1919
(3) 13 April 1919 ° (4) 15 Jecember 1919

Erferfiaa A Far A 1 T 3 et wnd e R F e e T e
(1) 6 femwat 1919 (2) 6 #1919
(3) 13 31¥a 1919 (4) 15 fewmt 1919

When it is 1:00 p.m. at Greenwich, what time will it be at 60° West and 60° East respectively ?
(1)  9:00 p.m. and 5:00 a.m, (2) 5:00 p.m. and 9:00 a.m.
(3)  9:00 a.m. and 5:00 p.m, (4) 5:00 am. and 9:00 p.m.

w4 TS T 1:00 TS F FWA A qa TrEfEE F 60° ufEn qe 60° T H FEe: F0 Ew @
(1) 9:00 FATTEA 491 5:00 YA (2) 5:00 SATEA e 9:00 FATEA
(3)  9:00 YATEA 91 5,00 FTEA (4) 5:00 YA T4 9:00 HRIEHA

R0 N -



&1

62.

i LT

Consider the statements (A) and (B) and choose the correct option of the IU“HW:ny

Summaltive assessment monitors the learner’s progress throughout the .
“fagy,,
'J

Statement (A) :
learming process,

Formative assessment is conducted at the end of the course
(1) (A) is false but (B) is true. (2) Both (A) and (B) are true.
(3)  Both (A) and (B) are false. ' (4) (A) is true but (B) is false.
F99 (A) 37 (B) W foanr Fifaw am Frefafes F 9 ad fasea =1 =997 Fifew)
FYT (A) : AEF HAiwerd, femo- aﬁﬂmmiﬁﬂﬁﬁﬂﬂﬁﬁﬂﬂﬁﬂmmﬁﬁwﬁ}

THAIE SHE WISTHH F 3 F dar ¥

Statement (B) :

FYT(B) :
(1) (A)Tem & 95 (B) §el B (2) (A) 3t (B) 3 =& F)
(3) (A) 3 (B) Zril e € (4) (A) W & 9= (B) TE@ ¥

Which of the following questions promote critical thinking ?
(A) What are the different ways through which the Government can take steps to provide

healthcare for all ? Discuss.
Examine the statement : As compared to Amazon, pollution in river Ganga will affect humg,

life greatly.

(C) Differentiate between the physiography of Brazil and India.

(D) Describe important features of Himalayas.

(E) What was the role of the Zamindar in Mughal administration ?
Options :

(1)  Only (B), (C), (D) and (E) (2)  Only (A) and (B)

(3) Only (B) and (C) (4) Only (A), (B), (C) and (D)
freferfaa § @ #7 9 wv swEr=Aras foa ) wem 23 §2

(A) 2 fafu=r 7% #n ¥ f9&F g0 9ROt =) @ Qad WM S0 ¥ F59 591 O 8 55

(B)

FITarq |
AASA H1 o1 | W0 6§ WGl HIAS St 1 STk §9 A W9ifad 0T | FeA F1 Wi Fii6

Arsitel Ud WA &1 Y-37THfd & a9 WG Fifeg |
(D) fewrera =1 waegel favmansdi = avfq #ifsw)

(E) el Womsa 5 Swier #1 vfas #=n €1 ?

faweq :

(1) %@ (B), (C), (D) 3 (E) (2) a9 (A) 3R (B)

(3) F=€ (B) 3 () (4) FF9 (A), (B), (C) 3R (D)

(B)
(€
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o3, Select the reason behind the low wages paid for agt icultural labourers,
(1) They are satisfied with wages prevailing in the market
(2) They are not skilled.
(3  They depend on land owners for a regular work. ®
(4) Most of them do not have their own land.

A T A A Y e 5 wgd L
(1) A A fe 6 o @ wpe E

(2) o T A A

(3) 3 Frafis 3 % ferg e wfer 0 Ff € T
(4) i Y sy A 3 s e A e e

64. Social Science curricular activities can be made more engaging for students by
(1) reducing critical thinking and discussion in favour of lectures, -
(2) incorporating technology and multimedia resources.
(3) focusing only on the most important historical events and figures,
(4) emphasizing memorization of facts and figures. *
mﬁ#mmmw%qﬁﬁﬁﬁﬁmﬁﬁmmmmt:
(1) mtwﬁmmmﬁmmmm
(2) e s wedwiTEa SEeE @ e FA A
(3) mmwﬁmﬂmmﬁmmmmmmm
(4) awii i st F1 ae FE WA A A

65. Match the following and choose the correct option.

A B
(A) Narration charts (i) steps ina process
(B) Relationship charts (i) data in the form of table
(C) Flow charts (iii) historical development
(D) Tabulation charts (iv) show cause-and-effect relationships

(1) (A)-{i), (B)-(iid), (C)-(iv), (D)-(7)
@) (A)), (B)-v). (O-(i). (DH) »
(3)  (A)-(iv), (B)-(i). (C)-(i), (D)-(i)
@) (A)-(iv), (B)-(ii). (O-(id). (D))

finmy a1 fireq 4 3 6% faweq & T B -
A B
(A) faem =m ) T Wi E
(B) e =W (i) @ ¥ w9 &
(C) = (i) UfeEITEE
(D) Bl (iv) - WA ) e &

(1) (A)-{), (B)-(isi), (Cy-(iv), (D))
(2)  (A)(ii), (B)-(iv), (C)-(i), (D)-(ii)
(3)  (A)(iv). (B)-(ii). (C)-(i). (D)-(iii)
(4)  (A)(iv), (B)-(iii). (C)-(ii), (D)-(i)
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66. The Independence of Judiciary tmplies :

(1)  the judiciary can work under the pressure of legislature, if required.

2) the legislature and the executive cannot interfere in the work of the judiciary. ,
the judiciary can direct the legislature to frame appropriate laws,

(3)
the judiciary can direct the executive to implement the laws properly.

4)

T & A S €

(1) mwﬁﬁﬂmﬁﬂ.fﬂmﬁm%mﬁmmmg,
(2) s Frdaifer!, Ao & Hm § vwady T w1 awd €

(3) e, faerae @ 39GH FE 1 gl A ) w i € e ¥
(4) e, FATTEER FI TE W FEA w1 FEita w0 w0 e 2 awd §

Which one of the following statements is correct regarding the nature of Social Science ?

67.

(A) Social Science is a dynamic subject that generates debate and discussion.

(B) In Social Science only individual human rela‘hnna are considered and not the accounts of
individual actions.

(C) Social Science is primarily mtEi‘dlSClPllnﬂfY subject with a focus on discovery an
expenmentahon

(D) The scope of Social Science is very narrow and hence it is fit to teach it only at the primar
level. ]

Options :

(1) (A)and (B) only - (2) (A) and (C) only

(3) (C) and (D) only (4) (A). (B) and (C) only

g fagm fawg 51 wafa & day § f= 9 4 19 @ F97 w98 22
(A) T faam v T faeg & St ar-faar st aftr=t 1 3aE w5

(B) T fergm H erel safama wret desi o1 faan T s @ 7 st s % ad s
faram faa s 21

(C) amifee fagm 7=7 &9 4 st & foman %2 fag @ i wdm €
(D) "mfa fagm =1 ma@ﬁ@mﬁ%wﬁqwﬁﬁﬁmmwmﬁﬁ%m%l
famwea :

(1) ¥ (A) 3 (B) (2) Fae (A)#R(C)
(3) Fa@ (C) =i () @) Faa (A), (B) IR (O
P-II NN 50
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F 5“[_1,,--1-‘1':‘1:&"111 l\-pi}“h[ﬂgc is given by the teacher o l.l|‘l.'ll'l']|'-l'i"‘1 ;Im-»hun'- i a Social Seweney question
o ’“ﬂwrl Which skill does the teacher want to tost among, students through this stratepy 2 n
(A) Writing skills only
(B) Intrapersonal skills
©) Logical thinking and creative skills
D) Application and presentation skills

Options :

(1) (B). (C) and (D) only ° (2) (A)and (B) only

(3} (C) and (D) only (3) (A), (B) and (C) only
fyreyer BT o TR et & e e & 7

() qdates v

() T oo T e e
(D) TR TS WA w

forae :
(1) F= (B), (C) 3 (D) (2) aw (A) F(B)
() ¥a (C) 3 (D) @ %@ (A), (B) # (O

§9. Which of the following aspect is mnsidéréd in the Right to Education Act, 2009 as part of evaluation
procedures ? .

(A) Confirm with the values enshrined in the Indian Constitution

(8) Examination should involve mainly summative assessment

(C) Development of the physical abilities of learners to the fullest extent
(D) Examinations are conducted within the school premises

Options :

(1) (A)and (C) only (2) (A), (B) and (C) only

(3) (A), (C) and (D) only (4)  (A) and (B) only

faefafias o @ fra v W fnen 7 st sifufem, 2000 § geaa &0 & F am & w9 faan
fm &2

(A) wrdrg wfaur § wirefua ged @ e H

(B) e § a: A sHener Wil fwm e e
(C) famnfefai # wrifrer emwanad 1 g0 Wen 7o fawm

(D) vied G R AR ARE

faea

(1) %@ (A) 3 (Q) (2) ¥4 (A), (B) 3T (C)

() ¥ (A), (C) 3R (D) (4) Faw (A) 3 (B)
ol T 51
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70.  Read the statements (A) and (B) and choose the appropriate option

R'unh'mp-'mr\' challenges to the princ iple of a democratic SOCiety are confy
g,

Statement (A)
such as those between individual rights and social responsibilities,

h'!_' (TP i
e |

Within a social science classroom, conflict resolution approach coyly

Statement (B) .
engage students to study 'Problems of democracy’.

(1) (A) is false but (B) is true. (2) Both (A) and (B) are true.

(3)  Both (A) and (B) are false. (4) (A) is true but (B) is false.

m{maﬂt(n;aﬁqﬁqmmﬁmmwm|

mm;;?ﬂ%&ﬁmm%fﬁmﬁrﬁmgﬁﬁﬁﬁdﬁfmmﬁmﬂaﬁmmw
I ¥ W ez b

WU (B) : "t T wan % ey, w1 awemnsii F s § i
ﬁmwmwnﬁmﬁﬁmmm%l

2 ""‘|"-'7§‘:T%..,'-1::.‘,“i

(1) (A) 7T & & (B) 781 81 (2) (A) 3 (B) 2 7@ #)
(3) (A) 3 (B) Zrii 7w (4) (A) @@ # AfF= (B) e T

71. Indian Constitution lays down

norms for participation of people into social movements that seek to challenge the Governmer:

(1)

(2) the national curriculum framework

(3) the basic laws or rules that have to be followed by everyone ¢

(4)  the structure of religious institutions

WrET wiaur fuifa w5 & -

(1) \mAfaF A 37 S0l i TER F: A S0 9ea € ) wriedt ¥ fom fom)

(2) A wEEEEl w E

(3) AFEE FrE @ fm e aem At & w5 Em

(4)  enfH= HryrEi 1 "5

52
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sbjective of establishing |

5] o . " ’
I.I“‘ ll“lh..j}ﬂ[. Rai mstitutions i 1[“,’[;_1 was o ﬂl.'hlv i
.:, I-‘“ fliL"I r‘t“-l-.-’r}* };U\'L‘r“ ﬂ.f“:\"

(A) (B)  Cultural homogeneity

(‘} pemocratic decentralization (D) Religious diversity
1 005€ the correct option, ‘
Choo!

n @ and @« @ (A)and @) (3)

mﬁwwﬁwﬁﬁmmmw
™ FevIial 51 e
o e frti

gt faed = S
n @WIEQ (g

(B) and (C) (4) (C) and (D)
Iufsta =N 41

(B) wiepfos waewan (wwiman)

(D) e fafawan

(A) 3 (B) @) (B) 3 () 4) (O s (D)

o appropriate for middle level students ?
Contribution of Mahatma Gandhi in history

(B) Economic development of India
(C) Status of Women in Present scenario

(D) Reasons for population growth,
Options :

(1) (A) (©) and (D) only

(2) (A) and (C) only -
(3) (A) and (D) only

oo (#)  (B), (C) and (D) only
ﬁmﬁumﬁqﬁﬁwﬁﬁaﬁaﬁaﬁﬁ%mmw%?
(A) sfae® ¥ " w5 dprem

(B) WE = e fawryg

(C) = wfrgya & wfewnsii %1 feafa
(D) “FEeEn gfg F =

faey

1) ==& (A), (O) 3w (D)

() F=@ (A) 3 (C)
) =& (A) siv (D)

(4) F= (B), (C) 3iw (D)
P.

R VTR o3
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75.

dents ?
ia] values among, stu

How can a Social Studies teacher develop social va

1 Dev eloping sense of discipline 2
i in school/class
(1) Behaving in the appropriate manner in

watch commercial movies

() Asking Students to .
SR (413 gsjgr_hﬂﬂl sel:hng

(iv) Follow appropriate democratic values in cla

Choose the correct option. p-—
¢ (i m
(1) Only (iii) and (iv) (2) Only (i) and(

(3)  Only (i), (ii) and (i) (4) Only (i); (i) and (iv) »

o s e e el o e e e ) e W £
() HEA & vE T w1

(i) e I A FA

(iii)  Teremfefit 1 sy fen S & fou Fe

(iv) g e o S R e 9 e

W faweq 1 g7 w
(1) Fad (iii) 3 (iv) (2) Fam (i) 3 (iii)
(3) = (i), (ii) 3 (iii) () (), (i) ()

Which one of the following teaching methods are suitable to overcome the teaching chal),
faced in Social Sciences ?

(A) From Specific to General (B) From Complex to General
(C) From Known to Unknown (D) From Analysis to Synthesis

Choose the correct option.

(1) (A), (B) and (D) (2)  (A), (B) and (C)

(3) (B), (C) and (D) () (A)(C)and (D) ©

Freifeifian & | 1 6 e fafirl wmmfoes fogm # on @ Sifirdi @ o (freed) 1 395
(A) fafore & = 7 (B) ifeet | W

(C) A AW 7 (D) faverm 3 Hyemm a5

wA e & = Fifan)

(1) (A), (B) 3T (D) (2) (A, (B) 3 (Q)

(3) (B), (C) ¥ (D) (4) (A). (C) 3 (D)

et LR THIHTIITY o



mat does it mean to use the dialectic approach to teaching, in the Social Soence < lassroom 7
wh '

# o Using maps and atlases to enrich students’ understanding, of Geography
\

o Using dialogue between student and teacher as the main method of knowledge generanon
:;} Using drama in the classroqm to generate interest in students

( R Using examples and analogies to clarify abstract concepts

g P 0 3 v 3 gy e 3 s % e e 47

gy PR 1 T 3 5 8 e e e

o T F TR e Ty & i fernef i s 3 it A @ wEm w

) ol 5 ¥ 3= w5 g e 8 g e

) I SRS 1 v e d el v g wdn w5
p whicc:l of thii fﬂﬂn;vi.ng questions asked by the teacher come under the category of exploratory ang
(LT uestions

cﬂb q.

(A) What is the southernmost part.of the Himalayas called ?
®) Is the Sun a star ? Why?

(€) Why does more population reside in the Northern plains ?
(D) Between which two countries is the Pak Water Treaty located ?

Dptions : =
(1) (C) only (2) (B)and (C) "
(3) (B)only 4) (A). (B), (C) and (D)

w4 H T8 570 1@ TR A A FR R wE s S e v AW
(A) Terem % wad el w0 =0 we s €2

(B) N G U AW g ? i ?
(C) I Hem H sifusw Tden feam #=i s 82
(D) s we HiY fFm <1 2w & oe fem ¥

e
1) ¥ () () (B) 3R (C)
B) ¥aw (8) ) (A), (), (©) 3 (D)

MU 55
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78. § } .
Small w orkshops and factories prefer to employ casual workers becaus¢ .

L“\} 511“11 h"y,. alrcad}. il’k(‘n care Uf wurkt'l'ﬁ' t‘mﬂfhu
(B)  they can be fired without any prior notice
ic'l most of them are not literate

(D) they could be paid lowest possible Wages

Options :
1) @Aad© @ @awd® O @and© @) (Qand (D) -
mmmmﬁmmﬁ#meﬁmmnﬁ_ﬁ.
(A) mﬁﬁﬁﬁiﬁﬁkmmwmﬁt
) % Fe Pt e ) & e 1 v &
() = @ sfiwin fofi T &
(D) ﬁwﬂﬁaﬁmﬁmmmt
fawea
(4 (O[O

o @wFO @ AFE O (8) 3T (D)

Nelson Mandela spent 28 years of imprisonment along with thousands of black and coloured

people.

(1) to raise voice against King and royal monarchy.

(2) for opposing apartheid and struggle against policies of segregation. |
(3) to get punishment for offence.

(4) to get powerful positions in Government.

g wi2en 3 2 % 28 A GO 319 v o W fe -

(1) T s e % e s san ¥ fag

(2) i = fatm F0 AR s F At F faers ded w0 % fag
(3) s F fo w9 #F fe

(4) TrET wAHE TE F wE F e
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which of the following is gy, incorrecy Statement about Gram Sabha ?

Gram Sahb . ' )
[” The ﬁ\k 5: ha SPcrnlar}- kﬂeps a record of the Gram Sabha meeting prncemhnﬂh_
) The work of the Grapy, Fﬂnr:hayat has to be a pproved by the Gram Sabha.
0 The Gram Sabha Sec

fetary is an elected
) The Gram Sabhg gy

Panchayat. Sﬁcretary is responsible for calling the meeting of Gram Sabha and Gram
mﬂm%mﬁﬁnﬁ%ﬁ“*ﬂmmt?

(1) ngﬁmﬂmwmmﬁaﬁmmgwawmmmm%l
) mﬁw%mﬁmwgm%mm

(@) SIS 0 fratifern st a3
(4) mw%ﬁmmmmwmmmaﬁmgﬂﬁﬁﬂh

“rh.ich D‘f ﬂ‘ﬂ fl}“l?.l“'ing emer E'd . S R Adi " his ‘ du‘.m the
nineteenth century ? ged as an important religion in modern Adivasi tory 2

(1) Islam (2)  Buddhism * (3) Christianity (4) Hinduism

ﬁnﬁmﬁﬂmmmﬁmmﬂﬁnmuﬁ@a@ﬁwuﬁ%mﬁm?
(1) =™ (2) g (3) = wd (4) Teg=

Consider the following statements (A) and (B).

(A) The Government of India Act 1909, allowed for some elected representation system in India.
(B) Through Government of India Act 1909 all adults were given the right to vote.
Choose the correct option.

(1) Neither (A) nor (B) is true (2)
(3)  Only (B) is true
=1 a=y (A) 991 (B) 1 ufew

Only (A) is true
(4) Both (A) and (B) are true

(A) mqﬁaﬁwﬁﬁ?aﬁmﬁmW%gmﬂawmﬁﬁaﬁmﬁﬁfmaﬁmﬁmﬁmu
(B) lmﬁmmmmmwmﬁmmﬁmmWMnm
T faweq w1 w97 Fifsw

0 FR@s@esiRad@a@d ) Faa(a) e
() == (B) =@ ¥ 4)  (A)T@ (B) = =& ¥
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83,

Critical thinking is important in Social Science because -
(A) It helps students to pass exam.
(B) It allows students to guess the correct answer
(C) It helps students memorize information more easily
(D) It prepare students for higher-level-thinking ~
(E) It promotes problem-solving abilities
Choose the correct option :
(1)  Only (D) and (E) * (2)
(3) (A). (B) and (O) (4)
A faam § SuEEEE | Teeyr & i
(A) T BE 1 T T FE H AEE Fl @

Only (A) and (B)
Only (A), (B), (C) and (E)

(B) I% oTH #1 TE I T SAAA T HT I 2l €|

(C) a7 o7 1 3k SEE | A 98 TE § 7eg F
(D) I 2T %1 397 =g 99 F fae fan w@t €

(E) 4% T9En-99IYE F4 &1 |ual F1 Wiedied STl €

e faweq 71 9797 F:
(1) =4 (D) 3 (E) (2) EE (A) 3R (B)
(3) (A), (B) 3 (O) (4) Fa (A), (B), (C) 3N (E)
84.  Which would be the best teaching pedagogy to understand the trends in poverty in Indian 5t
and Union Territories ? -
(1)  Brainstorming (2)  Field trip
(3) Debate - (4) Secondary data analysis
T T S Sz i 4 Fobm a9 gt v S e s e i
ATy gomet F1 Gt gt ?
(1) Faammw wfen (aef) (2) & wEm
(3) ar-faam (4) fedfas sl = faveram
P-IT RN amn 58



< which of the following questions assess the evaluation aspect of cognitive abilities 2
(A) Poshan Abhiyan is an important programme to improve the nutnition level of Indian children

Examine the statement with evidences.

(B) Colonial rule in India for two centuries left India with irreversible social change in India, Do
you agree with this statement ? Explain.

(C) Describe the important features of Jan Dhan Yojana.

(D) Poverty and unemployment in India has declined in the post 1991 India. Justify this statement.

Options :
(1) Only (C) and (D) () Only (A) and B)
(3) Only (A), (B) and () (4) Only (B), (C) and (D)

Pl ® 8 B | ¥ e s & qee v W e

(A) T SR ST = 3 i g i O e wE & | S e w6 A

(B) @ T ¥ A 3 shfrifer wrem % ww @ steed et g w1 fa o fon &
¥ 39 T8 FYA | Weun € 2 =nen wita |

(© T WA A i w5 A e
(D) mlaaMﬂ‘ﬂnaﬁnﬂa&ainéﬂmﬁﬁﬁnmmé%ummaﬁfmmﬂﬁmn

fawea :
(1) Fa4 (C) 3t (D) (2) %A (A) 30 (B)
(3) ¥4 (A), (B) #R (O) (4) %4 (B), (C) 3 (D)

8. The teacher divides the children of her class into 4 groups and gives them to write the names of the
sources of water and then discusses the sources of water with each group. Which of the following,
he/she is attempting first as part of 5E approach to lesson plan ?

(1) Engage (2) Explore (3) Evaluate (4) Explain

fofin ST+t e & @i %14 Tge | fawfom 0 99 F =6 F T fowd 9 20 2 o 3wE e v
TE A A & @l W] At € | WSS & 5% 39T F aed 98 1 3 A w9 W gad we e
F11 2

(1) Hems w0 ) FEEMFA  (3) TAEA FA (4) fww

el (T 59 D
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87, A teacher wants students to understand the functioning of gove Mmeny, by
P anchavat. Which of the [ollow ing source of data collection will provide “ S dl:h..l_ ii'p,, |
information * 4 il i,
(1) Textbook (2) Newspaper articles
) Field trip (4) Biography
wmmihwmmﬁmﬁmmmmm.w )
¥ -wwEn w1 w1 e i WIS SR yeR w7 h”‘%.‘n
Iy
) TR () &G wE
REECCET (4) et
88. A belief that science requires a technical mind and girls and women are noj ¢
with technical things signifies : Apa hjt‘nfd
(1) Ignorance () Stereotype’  (3) Casteism (4) literge,
mmﬁmﬂtmmmﬁﬁmﬁmm%mmmw e
Frved # wem A ¢, 7% g o
(1) 3rgF (2) TEgumon (3) wiffER (4) Framy
89. Ina field trip which is the first skill to be developed among students ?
(1)  Reasoning skill (2)  Analytical skill
(3) Observation skill- (4)  Experimentation skill
T ERira- s & fe fernfeidi 4 fav wive 9 v e w5 wha
(1) T Fhv@a (2) fagerm Fhm
(3) HAAEFA FA (4) WM Fe
90.  Rohit found that some children in his class could not explain the position of latitude and longitude
lines on the map. What should Rohit do to help children acquire this competency ?
(1) Applied research * (2) Case study
(3) Empirical research (4)  Action research
fea 3w % 3 Fo F 9 7% vt oy @ S T @) o & W W
aﬂﬁmﬁwmaﬂﬁﬁmm%mmﬁwmmﬁq?
(1) AfirE srsm (2) ¥\ qorH
(3) s s () feamE ST
D
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